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Problem: How to enable triggering either initial REGISTER messages or all REGISTER messages from the S-CSCF to the AS?

Related documents:

· The initial solution suggestion presented in CN1#34bis in CR 067 (N1-041310) from RIM and Fujitsu, the CR was not approved.

· An LS (N4-040835) that was sent by CN1 to CN4 to ask CN4 to consider the solution.

· This discussion paper to study the possible solutions to the problem.

· An alternative solution suggestion in Nokia CR 121 (N4-040885).

Assumption: It is assumed that triggering all REGISTER messages to AS is an acceptable default behaviour if the feature of sending only initial REGISTER messages is not supported by the S-CSCF.

Possible solutions:

1. CN1 solution to re-define the meaning of the values of session case SPT when the trigger point contains a SIP message SPT with value REGISTER.

2. Define a new value “initial” to the session case SPT (current values are “originating”, “teminating registered”, and “terminating unregistered”).

3. Define a new SPT which contains the initial/all definition.

4. Define a new version of the SIP method SPT which contains both the SIP method and the initial/all definition.

Backwards compatibilty:

· A new feature needs to be defined in solutions 1, 2 and 4 to preserve backwards compatibility.

· In solution 3 a new feature (see N4-040837) is not needed because the new SPT is ignored if the triggering of only the initial REGISTER messages is not supported. The default behaviour is that all REGISTER messages are triggered.

Problems  in solution 1, 2, and 3:

· Does not work with condition type CNF and with Boolean operator NOT: the rules for ignoring the initial/all definition would need to be defined in case the value is not relevant. The value is not relevant when the group in the trigger point does not contain REGISTER message and when the actual message is not REGISTER.

Problems  in solution 4:

· The new version of the SPT either depricates the current message SPT or there will be two different definition for SIP messages.

Suggested solution: 4, define a new version of the SIP method SPT which contains both the SIP method and the initial/all definition.
